Home Learning 
Maths 
Today we are looking at multiplying decimals by a whole number. Please watch the two videos below and read the information available to complete the activities underneath.  
Video: https://www.bbc.co.uk/bitesize/articles/zhfj2sg
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0 Write and complete a multiplication for each model.
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Predict which multiplication will give the greatest and the
smallest products.

The answer to a
multiplication is
called the product.

Complete each calculation to check.
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2x3=6
02x3=06
0-02x3=
2x03=
2x0-03=

e a) Complete these sets of multiplications.

20x3=
20x0-3=
20 x 0-03 =
200x 0-3 =

2,000 x 0-03 =

b) Explain how the answers are related.

c) Explain why some of the calculations have the same answer.

I will use a place value
grid to explore how the
answers are related.

2x3

0-2x3

0-:02x3
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Complete these multiplication calculations.





